
Vidya
sa

ga
r U

nive
rsi

ty

Total Pages—5 C/21/BCom/1st Sem/COM(AF)H–GE1T

!î”Äy¢y†îû !îÙ»!î”Äyœëû

VIDYASAGAR UNIVERSITY

B.Com. (Accounting & Finance)
Honours Examination 2021

(CBCS)

1st Semester

MICROECONOMICS

PAPER—GE1T

Full Marks : 60

Time : 3 Hours

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

All questions are of equal marks.

Group–A

Answer any four questions. 4×12

1. In which market average revenue (AR) and marginal revenue (MR) curves
are same and why ? Explain the relation between the AR and MR of a
firm with the help of the concept of price-elasticity of demand. 4+8
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2. What is cross price elasticity ? Discuss the determinants of price elasticity
of demand. Discuss how the properties of indifference curve from the
axioms of preferences. 2+3+7

3. Explain the difference between returns to scale and returns to a variable
factor. Explain diagrammatically the concept of total product, average
product and marginal product for a variable factor. 5+7

4. What is opportunity cost ? Why is the short run average cost curve ‘U’
shaped ? Explain the relation among marginal cost curve, average cost
curve and average variable cost curve. 2+4+6

5. Write the features of perfectly competitive market. Explain how a firm
would reach equilibrium in short-run and long-run under perfect
competition. 5+7

6. Discuss short-run and long-run equilibrium of a monopolist. Why is there
no supply curve in monopoly ? State the Lerner Index of monopoly power.

6+4+2

7. Write the features of monopolistically competitive market. Explain the
process along which the firm under monopolistic competition will reach
the short run equilibrium. What is meant by excess capacity in
monopolistic competition ? 5+5+2

8. What is oligopoly ? How do the oligopolistic markets differ from those under
perfect and monopolistic competition ? Critically explain the Cournot
model for duopoly. 3+3+6

Group–B

Answer any six questions. 6×2

9. State the law of demand.

10. Write two factors which shift the market demand curve upwards.
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11. What is ‘veblen effect’ ?

12. Write down three ingredients in a basic competitive model.

13. What is indifference curve ?

14. What is price elasticity of demand ?

15. What do you mean by non-price competition ?

16. What do you mean by product differentiation ?

17. What do you mean by expansion path ?

18. What do you mean by price discrimination ?

îDy˜%îy”

”!Çþ’ ²Ìyhsþßþi ¢‚…Äy=!œ ²ÌÙÀ›y˜ !˜öì”ÅŸ„þÐ

þ™îû#Çþyí#Åöì”îû ëíy¢½þî !˜öì‹îû ¦þy¡ìyëû vþz_îû ö”çëûy ²Ìöìëûy‹˜Ð

!î¦þy†éôé„þ

öëöì„þyöì̃ y ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 4×12

1Ð ö„þy˜ îy‹yöìîû †vþü xyëû ç ²Ìy!hsþ„þ xyëû öîû…y ~„þ£z öîû…y ~î‚ ö„þ˜Ú ‰þy!£”yîû ”y›†“þ !ßþi!“þßþiyþ™„þ“þyîû

¢y£yöìëÄ AR ç MR öîû…yîû ¢Á™„Åþ xyöìœy‰þ˜y „þîûÐ 4+8

2Ð þ‰þy!£”yîû þ™yîûßþ™!îû„þ ”y›†“þ !ßþi!“þßþiyþ™„þ“þy „þyöì„þ îöìœÚ ‰þy!£”yîû ”y›†“þ !ßþi!“þßþiyþ™„þ“þyîû !˜•Åyîû„þ=!œ

xyöìœy‰þ˜y „þîûÐ þ™Šéöì¨îû ßþº“þƒ!¢kþ=!œ öíöì„þ !„þ¦þyöìî !˜îûöìþ™Çþ öîû…yîû ÷î!ŸÜTÄ=!œ þ™yçëûy ëyëû “þy

xyöìœy‰þ˜y „þîûÐ 2+3+7
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3Ð ò›yey î,!kþîû ²Ì!“þ”y˜ó ~î‚ þ™!îûî“Åþ˜Ÿ#œ vþzþ™„þîûöì’îû ²Ì!“þ”yöì˜îûó ›öì•Ä þ™yíÅ„þÄ „þöìîûyÐ ~„þ!Ýþ›ye

þ™!îûî“Åþ˜Ÿ#œ vþzþ™„þîûöì’îû öÇþöìe ö›yÝþ vþzêþ™y”˜ ç ²Ìy!hsþ„þ vþzêþ™y”öì̃ îû •yîû’y !‰þe ¢£öìëyöì† îÄy…Äy „þîûÐ

5+7

4Ð ¢)öìëy† îÄëû „þ#Ú †vþü îÄëû öîû…y ö„þ˜ £z‚îûy‹# ‘U’ xy„,þ!“þîû “þy îÄy…Äy „þîûÐ ²Ìy!hsþ„þ îÄëû öîû…y– †vþü îÄëû

öîû…y ~î‚ †vþü þ™!îûî“Åþ˜Ÿ#œ îÄëû öîû…yîû ¢Á™„Åþ xyöìœy‰þ˜y „þîûÐ 2+4+6

5Ð þ™)’Å ²Ì!“þöìëy†#“þy›)œ„þ îy‹yöìîûîû ÷î!ŸÜTÄ=!œ öœ…Ð þ™)’Å ²Ì!“þöìëy†#“þy›)œ„þ îy‹yöìîû ~„þ!Ýþ šþyöì›Å !„þ¦þyöìî

ßþºÒ„þyœ#˜ ç ”#‡Å„þyœ#˜ ¦þyîû¢yöì›Ä öþ™¤ïŠéyöìî “þy xyöìœy‰þ˜y „þîûÐ 5+7

6Ð ~„þöì‰þ!Ýþëûy „þyîûîyîû#îû ßþºÒ„þyœ#˜ ç ”#‡Å„þyœ#˜ ¦þyîû¢y›Ä xyöìœy‰þ˜y „þîûÐ ö„þ˜ ~„þöì‰þ!Ýþëûy „þyîûîyîû#îû

öëy†y˜ öîû…yîû x!hßþ_´ ö˜£zÐ ~„þöì‰þ!Ýþëûy „þyîûîyîû#îû Çþ›“þy !˜’Åöìëûîû ‹˜Ä œy Å̃yîû ¢)‰þ„þ!Ýþ öœ…Ð

6+4+2

7Ð ~„þöì‰þ!Ýþëûy ²Ì!“þöìëy†#“þy›)œ„þ îy‹yöìîûîû ÷î!ŸÜTÄ=!œ öœ…Ð ~„þöì‰þ!Ýþëûy ²Ì!“þöìëy†#“þy›)œ„þ îy‹yöìîû ~„þ!Ýþ

šþy›Å !„þ¦þyöìî ßþºÒ„þyœ#˜ ¦þyîû¢yöì›Ä öþ™¤ïŠéyöìî “þy xyöìœy‰þ˜y „þîûÐ ~„þöì‰þ!Ýþëûy ²Ì!“þöìëy†#“þy›)œ„þ îy‹yöìîû

x!“þ!îû_« •yîû’ Çþ›“þy îœöì“þ „þ# öîyGþÚ 5+5+2

8Ð x!œöì†yþ™!œ îy‹yîû „þ#Ú þ™)’Å ²Ì!“þöìëy†#“þy›)œ„þ îy‹yîû ~î‚ ~„þöì‰þ!Ýþëûy ²Ì!“þöìëy!†“þy›)œ„þ îy‹yîû

xyœöì†yþ™!œ îy‹yöìîûîû öíöì„þ !„þ¦þyöìî xyœy”yÚ v%þöìëûyþ™!œ îy‹yöìîûîû ‹˜Ä ¢›yöìœy‰þ˜y ¢£ „%þöì̃ Åy ›öìvþœ!Ýþ

xyöìœy‰þ˜y „þîûÐ 3+3+6
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!î¦þy†éôé…

öëöì„þyöì̃ y Šéëû!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 6×2

9Ð ‰þy!£”yîû ¢)e!Ýþ öœ…Ð

10Ð þîy‹yîû ‰þy!£”y öîû…yîû vþzkÅþ!”öì„þ ¢îûöì̃ îû ”%!Ýþ „þyîû’ öœ…Ð

11Ð òö¦þîöìœ˜ ²Ì¦þyîó „þyöì„þ îöìœÚ

12Ð ²Ì!“þöìëy†#“þy›)œ„þ ¢y•yîû’ ›öìvþöìœîû ›)œ vþzþ™y”y˜=!œ „þ# „þ#Ú

13Ð !˜îûöìþ™Çþ öîû…y îœöì“þ „þ# öîyGþÚ

14Ð ‰þy!£”yîû ”y›†“þ !ßþi!“þßþiyþþ™„þ“þy îœöì“þ !„þ öîyGþÚ

15Ð ”y› !î£#˜ ²Ì!“þöìëy!†“þy îœöì“þ !„þ öîyGþÚ

16Ð oîÄ þ™,í„þ#„þîû’ îœöì“þ !„þ öîyGþÚ

17Ð vþzêþ™y”öì̃ îû ¢Á±¢yîû’ þ™í îœöì“þ !„þ öîyGþÚ

18Ð ”y› þ™,í„þ#„þîû’ „þyöì„þ îöìœÚ


